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’ 100kN/mM##BZ % 1.00/ 000 ~ 151 123.05|3mZEBZBH| - ~ - - -| 100kN/MZE#B 2% 1.00/ 11.18 ~ 16.30 123.05|3m%#B% % -~ - - -
ZThES 1.00] 151 ~ 930 100.00] Zhust 000 ~ 930 2.58 13.81 ZTh LSt 1.00] 500 ~ 11.18 100.00f Zh it | 500 ~ 16.30] 258 13.81
9 100kN/mM#%# 8% % 1.00/ 000 ~ 1.83 128.12|3mZi#BZB| - ~ - - -| 100kN/iZi#8 % % 1.00[ 1069 ~ 17.07 128.12|3m%i#BZ % -~ - - -
ZTh LS 1.00]1.83 ~ 961 100.00] Zhlist | 000 ~ 9.61| 247 13.24 Zh LS 1.00] 500 ~ 10.69 100.00| Zhlist | 500 ~ 17.07| 247 13.24
3 100kN/mM#%# 8% % 1.00/ 000 ~ 211 132.68|3mZi#BZBH| - ~ - - -| 100kN/iZi#8 % % 1.00 11.13 ~ 19.20 132.68|3m%i#BZ% -~ - - -
ZhLS 1.00] 211 ~ 9389 100.00] #hlist | 000 ~ 9.89] 257 13.77 Zh LS 1.00] 500 ~ 11.13 100.00f Zhlist | 500 ~ 19.20] 257 13.77
4 100kN/mM#%#BZ % 1.00/0.00 ~ 240 137.52|3mZi#BZRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.64 ~ 20.30 137.52|3m%i#B% % -~ - - -
ZThLS 1.00] 2.40 ~ 10.19 100.00] Zh st | 0.00 ~ 10.19] 2.80 15.01 Zh LS 1.00] 500 ~ 10.64 100.00f #hlist | 5.00 ~ 20.30] 2.80 15.01
5 100kN/mM#%# 8% % 1.00/ 000 ~ 217 133.71|3mZ#BRB| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.85 ~ 19.10 133.71|3m%i#B% % -~ - - -
ZTh LS 1.00] 217 ~ 996 100.00] Zh st 000 ~ 996| 252 13.48 Zh LS 1.00] 500 ~ 10.85 100.00f Zh it | 500 ~ 19.10] 252 13.48
6 100kN/mM#%# 8% % 1.00/ 000 ~ 1.40 121.30|3mZi#BZB| - ~ - - -| 100kN/iZi#8 % % 1.00| 10.61 ~ 15.10 121.30(3m%i#B% % -~ - - -
ZhLS 1.00] 140 ~ 919 100.00] Zh st 000 ~ 9.19| 245 13.10 Zh LS 1.00] 500 ~ 10.61 100.00f Zh it | 500 ~ 15.10] 245 13.10
7 100kN/mM##BZ % 1.00{0.00 ~ 1.15 117.30|3m%EHE %% -~ - - -| 100kN/ %8z % 1.00| 10.53 ~ 14.11 117.30|3m%E# %% -~ - - -
ZnLst 1.00] 1.15 ~ 8.93 100.00] Zh L4t | 000 ~ 8.93| 2.18 11.68 Zzh st 1.00f 5.00 ~ 10.53 100.00f Z1List | 500 ~ 1411 2.18 11.68
8 100kN/mM##BZ % 1.00{0.00 ~ 1.85 128.39|3m%EHE %% -~ - - -| 100kN/ %8z % 1.00| 10.63 ~ 17.10 128.39|3m%E# %% -~ - - -
ZnLst 1.00] 1.85 ~ 9.63 100.00] ZHn L4t | 000 ~ 9.63] 2.45 13.13 Zh st 1.00f 5.00 ~ 10.63 100.00f Z1List | 500 ~ 17.10f 2.45 13.13
9 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 5.90 73.84] zh st | 0.00 ~ 590| 1.92 10.25 Zh st 1.00f 500 ~ 7.10 7384 Zhst | 500 ~ 7.10| 1.92 10.25
10 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 492 61.31| ZnList | 000 ~ 492| 1.82 9.76 Zh st 1.00f 500 ~ 5.30 61.31] Znblis | 500 ~ 530 1.82 9.76
12 100kN/m##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 461 5747 ZhLi4t 1000 ~ 461| 1.88 10.04 Zh st 1.00f 500 ~ 501 5747 =iy | 500 ~ 501 1.88 10.04
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~ |
=EFR



